eI Bk ORI T RE, SK 40 AD/BRY

TITANILM

G 2,525.000 rpm

i%ﬁﬁyﬁﬁa %j( /_A\ A
: -

~Iz.

&

e s D1 | A D2 D3| V| L| M |44
714044-04 40 12 80 33 42 6 48 M10x1 D
71404406 | 40 | 16 | 80 | 33 | 42 | 6 | 51 | Mi2x1| D
71404408 | 40 | 20 | 80 | 44 | 50 | 6 | 53 | Miex1| D

(E PR 2L TN
S BRI A

WA AR TN BRI IR T EE, SK 50 AD/BRY

@ NP THE ;‘

G 2,525.000 rpm | fiei e

LU

R AT REU

< 1gmm

2
iTis 1| A|[D2|D3 |V | L| M |44
715044-04 50 12 80 33 42 6 48 M10x1 D
715044-06 | 50 | 16 | 80 | 33 | 42 | 6 | 51 | M2 | D
71504408 | 50 | 20 | 80 | 44 | 53 | 6 | 53 | M16x1 | D

Karl Schissler GmbH & Co. KG

7 [ el A R 3T 5 AR K Gk 187 108 5
ME g 72411

HLTE +49 74 71 /95 90-0

AL +49 74 71 /95 90-90

ME#6 info@k-schuessler.de

Y3 www.k-schuessler.de s
Karl Schiissler GmbH & Co. KG ILIi’ﬁ AT

TR T B (Bl BIRA

M A4 (I%“ﬁé%mfﬁ;wx S LR LS 885
B2 U 1 11 RHE BT 7= el B 2025 the y-maker

%ﬁﬁ?&?iﬁﬁ?&éﬂ? SCHUSSLER www.k-schuessler.de SCHUSSLER

the,u muker




|

A fi] LR -
AN TIH, X e E AT

WA
i 1
WV -

BR Sk 2T H Al T
{EIR 7 1 B0

i

100% ¥4 %4, TCiFah:
A LA FRLBeih

EPARSN: ilingib)

ZEEIpaaC

Schiissler BT &) TITANIUM® £k & 4 H i TR

Wi R IhRE, HIER w4
By R AN AR CIngk& < K in e
X EERE R B AR A )L%Hﬁ, Hu)?Iik&

TITANIUM £k < TR BBk sl A FE <=3y, FF& %Jﬂq HEOR
[F] I A LA100% PRk T R i) 22 4= 1

St R P DL S LG MU 1y S

]
F T L
1+‘rrﬁ§f§5£ztlﬁmﬂlh$%5‘% MADE IN GERMANY

wE eI Rk R ThRE, HSK-A 63

Q BRI FHE
G 2,525.000 rpm
B KA P 4 U

< 1gmm

g ITHE [HSK D1 | A [D2|D3 | Vv | L| m |54
606344-04 | 63 | 12 | 90 | 33 | 42 | 6 | 48 | Miox1 | D
606344-06 | 63 | 16 | 95 | 33 | 42 | 6 | 51 | Mi2d | D
606344-08 | 63 | 20 | 100 | 44 | 53 | 6 | 53 | Miex1 | D

e R AT Ak AR ThRE, HSK-A 100

0 R T
G 2,5 25.000 rpm
B KA PR ERU

< 1gmm

%S | HSK | b1 | A | D2 | D3
610044-04 100 | 12 95 33 42
610044-06 | 100 | 16 | 100 | 33 | 42
610044-08 100 | 20 105 | 44 58

W

48 | M10x1
51 | M12x1
53 | M16x1

o o O | =
—
=

UUDEI)
A
fm




